“QUIZ” for Lecture 19

NAME: (print!) DWI\”L &oune iro Section: 23

E-MAIL SCANNED .pdf OF COMPLETED QUIZ to DrZcalc3@gmail.com (Attach-
ment: ql9FirstLast.pdf) ASAP BUT NO LATER THAN Nov. 12, 8:00pm

1.

Determine whether or not the vector field
F(z,y,2) = y*2%1 + 2z0y2® j + 32?22k
is conservative. If it is conservative, find a function f such that F = V f.
curl (F)= Cény=*-4xyz?, 29222 3o 2yzie 242" >
= Co0,0,0>

F= (ypedn= K422+ 90,3
2)(923—[-93 pul Z><§23 — jn::O/ 9(y,2 = L\(Z>

3Xyrz® 4, = 3xylix2 > p. =0
f= Xy

2. Show that the line integral

/2:Uy2 dr + 2z%ydy
c

is independent of the path C, and evaluate it if C' is any path from (1,0) to (0, 1).
d ( 2 = f 2,2
S(axyr) = — (2w = 2%y e
sy LY M(X@f T 90w

‘txy = Wy Y49y = 27 9o,

t's conservotive | S0 # Flay= X*y2
Jdoesh £ depend 4n o) = £(10)=0-0

Fesult: 0




